Homework 1

SNU 4541.664A
7% 3/25(3}) 5AAZ

Kwangkeun Yi

o o[l SAS] 2A2, g T A5, 2PHY CPOQ Mde
3171, qlojo] ouxdiz 2ol oujg Fo|H7|, qlojo F
opuzo] et 4 SH(AGHLR) 55

Jot
o

N
—
2

Exercise 1 AlE9] Agto] fdA o=z &} Zo] Ao
e—xlete|lexe|elee

‘7ol = Z4ZE Ao TIs7]9F 55171 E ShAL “er? eg ez €1 9] ghe] 0ol
3] 2, otUH e29] FhE AT

e S0tk BE Aol tisiA, 1 Aol Uehe 52 ghol ne w4
olfl 71 A ] 2 n o] Hjg-o|tt,
Exercise 2 Hg A9] REYFER T Hg 248 st &4 X C Y=

ch3t o] AojHet:

<
CPOYS (142 @) 9 o)e] A919] 2] 4 SUE7A (lub, least
upper bound)o] &4} £AJsl=7))E Zslat.

rlo
10
P
N
1
2,
rO
B3

Exercise 3 CPO Ao|4 CPO B2 H3 & (Cartesian product)E AyZtslAt. A
2ot A (a,b) C (o, ¥) & Thg3} 2ol Felsick

GEACLI/\bEBb/.

~
“@
(=)
~—
I
~
@\
Bl
=

S (PR farh Bo91A], 18 ojo] A19] H4SF7 (lub)o]



Exercise 4 CPO Ao|A CPO B2 7}= A&Se2 1A
S fC g theat o] BelHnh

i,
e
1
oy
i
0%
)
QL
>

fEg < Vae A: f(a) Cp g(a).
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Exercise 8 A7t
init(R)
translation(u,v)
rotation(u,v,6)
p;Pp

{ptor{p}

iter{p}
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[translation(u,v)]A
[rotation(u,v,8)]A
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initialization, with a point in R

translation by vector (u,v)

rotation defined by center (u,v) and angle 6
sequence of operations

choice (the branch taken is non-deterministic)

iteration (the number of iterations is non-deterministic)
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{trans(p, (u,v)) | p € A}
{rotate(p, (u,v,0)) | p € A}
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init({(0,0), (Oa 1)})§

iter{
{
translation(l,0);

tor{

translation(l,1);
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Val = Z
[C] € 2Vl 5 oval
[E] e 2Ve 5 2Val
[skip]S = S
[store E|S [E]S
[Ci; Co]S = [Cal([CA]9)
[Cior C1]S = [Ci]S U [Ca]S
[2]S = {n}
[Load]S = S
[Ey + Eo]S = ([E1]S)+([E2]S)
[-ElS = —([E]9)
S1+Sy = {s1+s2|s1€S51,8 €Sy}
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communtative [+]#
1L+#z

0+#0

04+#1

1+#1

T+#0

T+#1

TH#T

[c1*

[[sklp]]#s#
[[store E]*s
[Cr s Ca)Fs
[Cy or C’l]]

commutative U#

1Lu#z

TU*z

ouU#1

0uU#0
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{L1,0,1, T}

0
Z
the set of all odd integers

the set of all even integers

Val* — Val*

n  mod 2

s#
([EA]#s7) +7 ([E2]*s7)
[[Eﬂ#s#
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Val® — Val™

s

[[Eﬂ#s#

[Co]# ([C1]# s7)

(IC1]# s#) Uu# ([Ca]# s7)
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